
KONKAN RAILWAY CORPORATION LkMITED  

OUESTION PAPER FOR THE POST OF BLACKSMITH-CUM_TINSMITH-CUM-
WELDER 

Maximum Time: 3 hrs Maximum Marks: 100 

Choose Right answer among Options. Each Question Carry 1 Mark 
Marks 50 

1. The Radius of a Circle is 4 cm. What is it's area ? 

a) 3.14x9Sqcm b) 3.14x4Sqcm c)3.14x8Sqcm d) 3.14xl6Sqcm 

. Area of Traingle is = V2 x Height x  

a) Height b) Base c) Weight d) None of the above 

3. What is the volume*of a Cylinder ? 

a) Tth b) T1 r h c)llr h d) None of the above 

4. Vo'ume of a Cone ? 

a) 1/3 x (Area of Base ) x Height b) 1/3 x ( Area of Height) x Base 

c) 1/3 x Base x Height d) 3 x Base x Height 

5. Volume of sphere 9 

a) 4/31Tr b) Y4T1r c) 4/3 1Tr d) None of the above 

-' '2 
6. axa = 

a) a 
- 

7. ab xab 

 

b) 1/a c) a d) a 

    

a) ab b) 0 c)l d) 1/ab 
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8. The speed of Light is 

  

  

a) 3 x 10 mis b) 8 x 10 mIs 

9. Square root of 169 is ? 

a) 12 b)13' 

10. Ferro Magnetic material is ? 

a) Iron b) Magnesium 

) 3 x 10 rn/s d) None of the above 

c) 14 d) None of the above 

c) Gold d) None of the above 

11   material has weak ,Negative susceptibility to Magnetic field ? 

a) Diamagnetic b) Ferromagnetic c) paramagnetic d) None of the above 

12. Pressure is ? 

a) Force I Unit aa b) Force x Unit Area 

c) Force x Mass c) None of the above 

13. Who is the Iron Man of India ? 

a) Sardar vallabhai Patel b) Mahtua Gandhi c) Subhash Chandrta Bose 

d) Motilal Nehru 

14. What is the Number in Series ? 

2 , 4 ,8, 16  

a) 32 b) 24 c) 28 d) 20 

15. A Man buys a Cycle for Rs 1400 and sells it at a Loss of 15 % .What is the Selling Price 
of the Cycle ? 

a) Rs 1160 b)Rs 1090 c)Rs 1190 d) Rs1202 

16. If a Quarter kg of Potato costs 60 Paise .How Many Paise will 200 gm cost ? 

a) 48 Paise b) 54 Piase c) 56 Paise d) 72 Piase 
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17. The Metal found in Liquid State ? 

a) Sodium b) Mercury c) Aluminium d) Potassium 

18. Ricket's Disease is Caused by Deficiency of ? 

a) Vitamin" A" b) Vitamin" B" c) Vitamin" C' d)Vitamin" D" 

19. Largest River in the World is ? 

a) Amazon b) Godavari c) cauvery d) Krishna 

20. In Spot Welding the Size of the nugget is controlled by ? 

a) Time b) Current c) Pressure d) None of the Above 

State True I False 
1 

21) Generally Metals are Good Conductors of Heat 

22) Flux is not required during Welding of Cast Iron 

23) Coal, Petroleum and Natural gas not fossil Fuels 

24) CNG is more Polluting Fuel than Petrol 

25) Welding Genarator is Used for Supplying Current for Welding 

26) The Electrode Used in TIG welding is Tungsten 

27) Brazing and Braze Welding are the Same Process 

Choose Right Answer among Options 

28) India's finance Minister is ? 

a) Chidambaram b) Pranab Mukharjee c) Aijun Singh d) Kapil Sibal 

29) konkan Railway Passes through States namely ? 

a) Maharasthra , Kerala ,Gujarat b) Maharasthra ,Goa ,Keral 

c) Maharasthra ,Goa, kamataka d) Kerala, Karnataka ,Goa 
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30) Number in Series 

3, 6 ,12 ,24  

a) 36 b) 48 

31) CubeRootof27is ? 

a) 2 b) 3 

32) Swine F1uis Caused by ? 

a) Bacteria b) Virus 

33) Ajanta Caves in Which State ?  

c)42 d) 56 

c)4 d) 5 

c) Vitamin d) None of the above 

a) Karnataka b) Madhyapradesh c) Maharashtia d) Himachal pradesh 

34) what is the minimum age for Citizen of India for Voting in Eicctions 

a) 21 b) i8' c) 16 d) None of the above 

35) Which of the Planet is the Smallest among the solar Solar Sycm 

a) Mars b) Jupiter 

36) One Inch =  

a) 1 Cm b) 2.54 Mtr 

37) Half Ton -Ki4oGrams 

a) 1000 b) 250 

38) Highest civilian Award in India ? 

a) Param Vira Chakra 

c) Padmashree 

39) THAR desert in Which state ? 

c) Mercury d) Pluto 

c) 254 Cm Cm 

c) 500 d) 750 

b) Ashok Chakra 

d) Bharat Ratna 

a) Madhya Pradesh b) Uttar Pradesh c) Rajasthan. d) Kerala 
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40) Which one of the Following methods of welding is" Welding with Pressure Method 

a) Resistance welding b) Arc Welding c)Gas Welding d)_ Thermit Welding 

41) A 

 

Hammer is Used for Finishing Corner in Shouldered Work ? 

 

a) Ball Peen Hammer b) Set Hammer c) Flat Hammer d) None of the above 

42) The cutting Angle for a Straight Strip is? 

a) 55 b) 67 c) 87 d) 43 

43) Which instrument is Used in Check in Perpendicularity ? 

a) Wing Compass b) Try Sqwre c) steel Scale d) None of the above 

44) Micrometer Caliper is Used to find thethickiiess of MetaiSheets accurately up to ? 

a) 2Cm b) 1Cm c) 0.01 trim d) U 0 nm 

45) What defect Occur ,if Cast Iron is Welded without Pre-heating ? 

a) Porosity b) Undercut c) Crack d) Blow Hole 

46) What is the Preheating tmperature fbi Arc Welding of Cast iron ? 
4 

a) 80 to 90 degree 

flfli\ i. 
e) 3.)J LU 'tUU ugicc 

47) Out Side Caliper is Used to Check 

a) Sizes of Round Job  

b) 150 to 250 degree 

d) 450 to 600 degree 

b) Dimensions of Grooves 

c) Angle of the Job d) Depth of Job 

48) Lack of Fusion in Welding Joint is mainly due to ? 

a) High Current b) Low Current c) Damp Electrode d) None of the above 

49) Which one of the defect is caused by higher Current ? 

a) Over Lap b) Under Cut c) Blow Hole d) Slag Inclusion 
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50) Which..one of the following is not an Insulator ? 

a) Gold b) Glass c) Mica d) Wood 

SUBJECTIVE 

1. Explain Brifly the Uses of the following Blacksmithy Tools ? Mark 6 

a) Flatter b) Swages c) Fullers 

2. Write atleast Four Names of different Types of Sheet Metal Joints ? Mark 4 

3. Write Minimum Six Eouipments required for the Arc Welding ? Mark 6 

4. What are the Safety PrecautTon Jc ' i Gas Welding ? Mark 1O 

5. Explain briefly about Drawing ,Drifting and Upsetting ? Mark 9 

6. Draw Free Hand sketches of the U ci ving ? Mark 15 

a) Hacksaw (b) Double Ended Spanner (C) Center Punch 
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